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QUESTION 1

Which of the following defines the expected results of a test? 

A. Test case specification. 

B. Test design specification. 

C. Test procedure specification. 

D. Test results. 

Correct Answer: A 

 

QUESTION 2

What is the MAIN objective when reviewing a software deliverable? 

A. To identify potential application failures by use of a test specification. 

B. To identify defects in any software work product. 

C. To identify spelling mistakes in a requirements specification. 

D. To identify standards inconsistencies in the code. 

Correct Answer: B 

 

QUESTION 3

Which of the following is a benefit of test independence? 

A. It does not require familiarity with the code. 

B. It is cheaper than using developers to test their own code. 

C. It avoids author bias in defining effective tests. 

D. Testers are better at finding defects than developers. 

Correct Answer: C 

 

QUESTION 4

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code. 

if width > length then biggest_dimension = width else biggest_dimension = length end_if The following has been added
to the bottom of the code fragment above. print "Biggest dimension is " and biggest_dimension print "Width: " and width
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print "Length: " and length How many more test cases are required? 

A. One more test case will be required for 100 % decision coverage. 

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage. 

C. None, existing test cases can be used. 

D. One more test case will be required for 100% statement coverage. 

Correct Answer: C 

 

QUESTION 5

Which of the following would you NOT usually find on a software incident report? 

A. The name and/or organisational position of the person raising the problem. 

B. Version of the Software Under Test. 

C. Suggestions as to how to fix the problem. 

D. Actual and expected results. 

Correct Answer: C 

 

QUESTION 6

For which of the following would a static analysis tool be MOST useful? 

A. Supporting reviews. 

B. Validating models of the software. 

C. Testing code executed in a special test harness. 

D. Enforcement of coding standards. 

Correct Answer: D 

 

QUESTION 7

Who would USUALLY perform debugging activities? 

A. Developers. 

B. Analysts. 

C. Testers. 
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D. Incident Managers. 

Correct Answer: A 

 

QUESTION 8

As part of which test process do you determine the exit criteria? 

A. Test planning. 

B. Evaluating exit criteria and reporting. 

C. Test closure. 

D. Test control. 

Correct Answer: A 

 

QUESTION 9

What is the purpose of exit criteria? 

A. To define when a test level is complete. 

B. To determine when a test has completed. 

C. To identify when a software system should be retired. 

D. To determine whether a test has passed. 

Correct Answer: A 

 

QUESTION 10

A thermometer measures temperature in whole degrees only. If the temperature falls below 18 degrees, the heating is
switched off. It is switched on again when the temperature reaches 21 degrees. What are the best values in degrees to
cover all equivalence partitions? 

A. 15, 19 and 25. 

B. 17, 18, and 19. 

C. 18, 20 and 22. 

D. 16, 26, and 32. 

Correct Answer: A 
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